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The question paper comprises of two Sections, A and B. “ou are to attempt both the
sections, :

. Adl questions are compulsory
. All questions of Section-A and all questions of Section-B are to be attempted separately.
. Question numbers 1 to 3 in Section-A are one mark questions, These are lo be answered in

one word or in one sentence

. Question numbers 4 to 6 in Sections-A are two marks questions. These are to be answered

in about 30 words sach.

. Question numbers 7 to 18 in Section-A are three marks questions. These¢ are to be

answered in about 50 words each

. Question numbers 19 to 24 in Section-A are five marks questions. These are to he

answered in about 70 words cach.

. Question numbers 25 ta 33 in Section-B are mulliple choice questions based on practical

skills. Each question is a one mark question. You are fo select one most appropriate
response out of the four provided to you.

. Quesiion numbers 34 to 36 in Section-B are questions based on practical skills. Each

question is of two marks,
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State the role of saliva in the digestion of food,
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Draw a diagram to show uniform magnetic field in a given region.
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Name the kind of energy possessed by wind and the device used to harness it.
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Consider the following chemical reaction :
x +Water — Slaked lime
{2)  Write the chemical name of ¥' and the type of reaction that occurs,
(8)  Write chemical equation of the reaction.
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20f1 While demomstrating decomposition reaction in laboratory the teacher heated ferrous
g § sulphate crystals in a hard glass dry boiling tube.

(@ What change in the colour of ferrous sulphate crystals you will observe 7

(i)  What type of smeil of the gases coming out of the boiling tube would you feel ?
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When growing plants detect light, name a hormene which is synthesised at the shoot tip. How
does this harmone affect the movement of shoot and why 7
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The potential difference between the two terminals of an electric iran is 220 V and the current
flowing through its element is 5.0 A. Calculata the resistance and wattage of the electric iron.
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Explain the use of an electric fuse, What type of material is used for fuse wire and why ?
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The values of elactric current 1 flowing through a resistor for the corresponding values of the
potential difference V across the resistor are given in table

[(amperes} |00 |0.2¢ 030 |040 0.50

V (Violts) 0.4 08 s 16 2.00

Plat the graph between V and I and calculate the resistance of the resistor.
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Aditya suggests his family toinstall a solar water heater at their residence. But some of the
tamily members were in a favour of installing an electric gevser.

{a)  Who according to you is taking a correct decision ? Mention the value exhibited by
Aditya.

(b)  Also give two reasons for your answer.

List any three characteristics of a good source of energy.
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{a)  State the chemical properties on which the following uses of baking soda are based .
(1) asanantacid
(i)  assoda-acid fire extinguisher.
(iii) tomake bread and cake soft and spongy.
(b)  How washing soda is obtained from baking soda ? Write balanced chemical equation.
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(a)  Name an ore of mercury and write its chemical formula. Write two steps along with
the eguations of reactions for oblaining metal from this ore.

{b)  How carbon or coke acts as reducing agent to obtain metal from an oxide ? Give a
suitable chemical equation of this reaction to fllustrate it.
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(a)  State reason for the following : - )
)] Herbivores need a longer small intestine while carnivores have shorter smali
intestine.
(i)  The lungs are designed in human beings to maximise the area for exchange of
wases.

(b}  The rate of breathing in aquatic organisms is much faster than that seen in terrestrial
organisms. ;

(@)  Howis the strength of the magnetic field at & point near a stmght conductof mlabed o 5

‘the strengih of the electric current flowing in the conductor 7

()  With the help of a diagram describe an activity to show that a straight conductor
carrying current produces 8 magnetic field arcund it State the rule which may be used to
determine the direction of magnetic field thus produced.

(¢)  Why do two magnetic field lines never intersect each other ? Explain,

“fa) Draw the magnelic field lines through and around a single loop of wire carrymng
electric vursent.

(b  State whether an alpha particle will experience any force in a magnetic field if (alpha
particles are positively charged particles)

(i) itis placed in the field at rest.
(ii)  itmovesin the magnetic field paralle! to field lines. ~ °
(iif) it moves in the magnetic field perpendiculay to field lines.

_ Justify your answer in each case.
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-{d)  Copper rod changed its colour
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Aluminium sulphate and copper sulphate solutions were taken in two test tubes A and B
respectively, & litdle iron filings were added to both the test tubes, Four students Ram, jeet,
Rita and Anita recorded their observations in the form of a table as given below :

Name | Aluminium sulphate Copper sulphate
Solution[A] Solution [B]

Bam. | Colourless solution Blue colour of the
Changes to light green solution is retained.

Jeet Colourless solution changes | Blue colour of solution

to light blue changes to green,

Rita. | Nochange in the colourless | Blue éalour of the solution

solution. changes to green.
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*| Anita | No change in colourless Blue colour fades away.

solubon

The correct set of observations have been reported by student :
(a) Jeet (b) Anita

(6 Rita (d)  Ram.
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To find the equivalent resistance of two resistors Ry and Rzconnected in series, Rahul prepared
a circuit as shown below. Another student Mohit observed the circuit and said that the circuit
is not correct. What is the mistake in the circuit ?
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(a) The two resistors and the ammeter have been connected correctly but not the
voltmeter

{B)  The two resistors, the voltmeter and the ammeter all have been connected correctly

(¢)  The two resistors have been connected correctly but not the voltmeter and the
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sAmmeter

(d) The two resistors and the woltmeter have been connected correctly but not the
ammeter
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Two unequal resistances are connected in paralfel by a student. Which of the following is true
7

(a)  Currentis same is both

(b)  Currentis larger in higher resistance

() Voltage-drop is same across both

(d) Voltage drop is lower in lower resistance.
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Given alongside is a sketch of a leaf partially covered with black paper and which is to be
used in the experiment Lo show that light is necessary for the pracess of photosynthesis. At the
end of the experiment, which one of the leaf parts labelled [, I and Il will turn biue- black
when dipped in iedine solution 7
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(a) lonly (b L only

{c) land lllonly (d)  Iland I only

3 v ERA CO, T e & i & v, v T 3 e wet # a1

:
(a) NaOH (§) KOH (¢) NaCl (d) K
In the experiment to show that 'COy is released during respiration’, the solution in the test
tebe 15 chemically :
(a) NaOH (by KOH (g Nadl (d)y Kl
3 Fag et sfufrmsd @ uftnfis i aon v v s S 2
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Define the following chemical reactions and give one example of each.

(i} Combination reaction
(i) Decomposition reaction
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